5-0.mp4

EBSE H 4|

BT 2857 2T 1 4% b AS ] A9 54 2 0 ) o 50 | S Y o A5 B 48 B Y, T A ik e 2R R

SR 7 o 08985 R LA L /N SR A 0
Cfis

ANRE B o T AR 52 B 07 o 8 30 Ak A (] 288 R Y AL A G B B B . R
BT S O H LUK R R IE T — Pl A R B — 4l
A A A 2R R AR B T

51 — 4 % A

B BH— RN REZETTE N FHES MR EIEE S, FEiTEVY Y, — DB dHEN
FEAE — RS C RS AL & 2 X B A6 25 8 pg e sk . 3041 W&o
ZH P2 EFRiR L B E R e E Un i,

5.1.1 —HEAMEN BEL

1. —HBEME N

E X —HEF AT .

K ARRA R LR,

Homr BRI THA T EHAN TR A, PRiRFF "B A2 XA A RER
HAgE k[ 7R B AT, DL B “ AR IR AT P i e A “ R R U AL R R UL A F
TEBHTERMNEL AN KE, —%EHEE -1 TFhrRiR,

B, AR AEAE 100 2 AR Ak, Bl G o S2 AUEHE , B0 2H 78 LHnR .

float scores[100];
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float c[5]={2,5,3.5,10.9,6};
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int d[5]=1{0,1, 3};
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double scores[ |={11,12,13,14,15};
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#include <stdio.h>
int main ()
{
int a[4]={1,2,3,4};
int b=12;
al4]=6;
printf("%$d, $d\n", b, al4]);

return 0;
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int b[10] ;

int 1i;

for (1=0;1<10;i++)
scanf ("$d",b[1]);

C I8 9 ar AN 26 B R 89 A 20k s 8 ARG £ B DU 4 72 6 2808 B A 24
S AT RE 2y DR BRI R R . IanTE b p R R T AR O <<= 10", H]

for (1i=0;1i<=10;1i++)
printf("sd ",b[i]) ;
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#include <stdio.h>
int main()
{
int pay[10]={412, 525, 436, 352, 545, 398, 560, 410, 570, 380} ;
int max, max_index, i;
max:pay[Oj;
max index=0;
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for (i=1;i<10;i++)
{
if (pay[il>max)
{
max=pay[i];
max index=i;
}
}
printf( "10 MR T A T%: ) ;
for (1i=0;1i<10;1i++)
{
printf("sd ", pay[il);
}
printf ("\n & L%: $d", max) ;
printf ("\n ZH THIL T 5 H%d\n", max_index+1) ;
return 0;

}
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#include <stdio.h> i A
int main() a[ggé?é%l]
{
i tia[0]~a[9]

int a[10]={22, 33,11, 23, 45, 62, 34, 62, 71,
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4-=-=> 3

5---> 5
G===> 8
P===> 13
Be==> 21
Po==> 34

1O===> 55
lil===> 89

12---> 144
13---> 233
14---> 377
15---> 610
l6---> 0987
17--->1597
18--->2584
19--->4181
20--->6765
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int b[6][7] ; //6 47 7 3 1) 5 R H 2
char c[50][50] ; //50 17 50 8 1 745 A B2
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int a[2][2]={{1,3}, {8,6}};
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int b[4][3]=1{3,6,2,7,1,9,10,4,11,21,9,4};
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int[4][3]={{3}, {9}, (4}, {7} };
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al31[1]=9;
al3][1]=b[4][3];

WRE S a N 34T 4 FIRYECAL B0 AT T e 9 fE A RO 2, 80 R bR B {E Rl 3.
. 60 -



WA 4105 It T A A A A
B 5.4 G AR H—A 347 4 SR T H4ERA

FRR BB JE LRI al 304 L TERE AR AR, 5 IR IR SR PR T AT 0 AT e

0 F1) , PR I K 5 20 T8 28 B 6 oz B9 4 BOR S 80 il 1
FEFF A AF

#include <stdio.h>
int main ()
{
int a[3][4];
int i,3;
for (1i=0;i<3;i++)
for (J=0;73<4;j++)
{

printf ("IERM AL $d 75 sd FWILE: ", i+1,5+1);

scanf ("sd", sali][3]);
}
printf (" Z4EEA IR E\n") ;
for (i=0;1i<3;i++)
{
for (j=0;3<4;j++)
printf("sd ", ali1[3]);
printf("\n");
}

return 0;

}
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#include <stdio.h>
int main ()
{
int a[3][3]={(6,8,10}, {5,3,4},{7,9,10}};
int b[3][3]={{3,9,1},{12,6,8},{6,21,14}};
int c[3][3];
int i,7;
for (i=0;1i<=2;1i++)
for (3=0;3<=2;Jj++)
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clill3]=alill3]+0L1105];
printf ("BIANEEFER A \n") ;
for (i=0;i<=2;i++)
{
for (j=0;3<=2;j++)
printf("sd\t", c[il[3]);
printf ("\n");
}
return 0;

}
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#include <stdio.h>
int main()
{
int i,3,al101];
for (1=2;1i<=100;1i++)
alil=1i;
for (1=2;1i<10;i++)
for (J=i+1;3<=100;j++)
if (a[i]!'=0 && a[§]!'=0)
if (aljl%ali]==0)

alj1=0;
for (i=2;1i<=100;i++)
if (a[i]!=0)

printf("%4d",alil);
return 0;
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$¢Ha=2~100

for i=2to 10
for j=i+1 to 100

ali]'=0 && a[ j]!=0
(al /1%alil==0)

al j1=0
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#include <stdio.h>
int main ()
{
int i,3;
int al[10][10];
printf ("\n");

for (i=0;i<10;i++)
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